2017 (FRL29) £ 2 BRAR F1E [EFE] BEH 100 RFER

M— () H& ) ®wE (9) BB (2) #iok (B) BE £218
M= EEE~/rkd 3K M=~ 3R
MM (1) v 3K
(2) SEITERVWLOESEICTH720IC, wmEEE L L CTHHIC
T ZERTEXDHEIHITTHZ L, 9 K
L E—t 3 MN 7 3 Wt v 3K
=
f— (a) 7 (b) A £ 28

ﬁ:ﬁ: . 3 Ilf_f( ﬁiﬁz /f 3 /'f_f( FIJ%P_E] 17 3 llf_;_(
M - HZ2 - ATHRETCLESTI L~ JEEIE L) OEE,

- BREOkEKDN TLOEDS DR B BBk, 4R
iR = 4 K Mt FEgicLTRbATR 4R
ﬁiﬁj\ =T 4 Alf_f(
FIE‘ - 4 ;If_f( ﬁi‘lﬂ: T 4 llf_;_( ﬁiﬁz - 4 Ilf_;_(

v
LS TR < = BVl = B 15 /¢ 6 &
A 6K [N U 6 R




2017 (FRL29) £ 2 BRAR F1E  [HF] BEG 100 RFER

1583
(1) 7310 (2) 68-482 3) ab+c—-1Db-c+1)
() x=221 y=P2 5 x=2, 1 % 4 RX5
W 3 ® 12 @a=lb=0 @ 306
(5) AH=2V6 (6) MH=3 £ 5 AX6
(1) P(-2,4) 48 (2 PQ=6vV5 5
(3) AOPQ = 24 5 (4 123’@ 6 K
(1) 12 4,8 (2) 2OPA=150(%) 5% (3) 6+2V3
(1) OH=2V6 44K (2 ¥ 5 ) 2

6 A

6 R




2017 (FRL29) F 2 BRAR F1E  [EFE] BEG 100 RFER

[Al@@) 1 (b 3 (c) 4 [B](a) 4 (b) 2 1 R X5

(a) concert (b) History (c) village

(d) survive (e) join 2 RX5

@ 2 (b) 3 (c) 2 (d 4 (e) 4 2 JIAX5
(@) - cannot 2 with (b) 7 wrong = late

(c) - after 2 away (d) 1 about 2 from

(e) - another 7 shall 1 X 10
@ 1 3 = 1 by 1 6 v 5 © A1 1 = 3 3 AX3 (E)
I have a friend who has been absent from school for a week. 5 &

@ 2 () 3 ()1

(d 623145 (58%)
(e 1
A DOZ L2 LTWAME, BEFELICL TWAIEED Z L 2B X Z 0%k
EEZMESETH L, ATF)
(@ 2 5 7 (ERR)
(d)(@)%& 3 M. ()5 M., &2

@ 2 (M 1 (c) 3
(d 461532 (5%)
(e) Yo ZIFF W ETHANTENEZAFHZL TN TR LWL, (29 F)
(fHh 4 (g) Bible
(hy 5 6 8 (EFRR)
(d)(h)%& 3/, (e)4 A, g 2 &




